7N

o

r

-

ul

%

r

.

ul



2. L ™A BOC 9 27|& F5}H?

@D 30° @ 45° 3 60° @ 90° B 180°



3. The 2004 2 A 9 A4 1 Aol o] A g Fajelat




op




@ 1//m°)H za = e ©|t}.
@ 1//m ©°19H sc+ th = 180° ©]|t}.
® 1//m©olH b = se O]t}

@ Szte] 271 G4 2AE ok,

G Eolzto] T7) G} 2R o




AA el A

—_

@ o

shet.

2

3

I

Q

—

I

&

o4

oM




7. ©h& 9ol DABCD St OEFGH 7§59 1, AD €| olsk /F
o 2718 A2 YEF AL

@ 4cm, 70° @ 4cm, 95° @ 5cm, 95°

@ 5cm. 80° ® 7em, 115°



o5 2" F Az o A
(B = /F, /C = (Eo°]|t},

e
A\ )

=DF

® AC

DF

@ AB

3 /A = /D

FE

@ BC



ol
A

BCeH 2
==
T

=

B

i

No o o
o Ho Ho
) o o
Gl 318
oju

2% &) Mw AMM
~ < 1O
O

= m Q@ @
=

xa <<

5 o
o | |
el o o
0 Mo Fo
o of o
A < 1M
=

e 815
E % & ® ®

9.



o

ald

AM +MQ

shelat.

?‘

o] 7Fo
o, 50 o] =

S}
=

Q=



11. & ™A LAOB & 27|15 3x-20° &+ & f 1x 9] 27]E 5}
ofzt,

)
)
T
)
<

| @)




12. o5 ™A 2x 9 2717

/Y0

@D 20° ® 25° 3 30° @ 35° ®B 40°



13. the 2T Al H4lo] a3t ol T u) A7) o
o el 7}

@ 3% @ 2% ® 1%
@ 9t B T3] W},



14. oS o)A 1)/ m o], LABD = gzDBC
o o, LABD 9] 275 Fslozt, 45,

35°




15. o5 232 AR Azt AR =S T2, ABS}
Bl YA A= BAEE Zrotzt




16.

che T 2ol 441 1 SolA Al A AB,C 7} AB = BC 7t HES
A= o, g HE EE?

OE2U=Ad @ E2PEA O AHA
@ Arzkar G 7+



Al o] dol7t 5em, 7em, xem )AL, x= A5Y o, x 9]

g9
e

N K
BN

@ 3cem 3 4cem @ 5cm 3 6cm

@D 2cem



18. th& ARelA L, 2y o 2712 AR Tatolet,

D 1¢C

30°



19. ©hg I WABCD S 5HA BAN = A D
We BT 9 At

D 17 @ 27 3 370 @ 470 ® 574



20. o2 el i HEoR 2 A

Ae
C
Bs¢
@ A ce A4 el A
@ A ABE Avh:= A4e F Aot
® A AE DA 1999l A gk
@ A A,B,CE Aut= A4l shelt
G A B A A 199 alt},



21. 2 /XOY ¢ 2717 22 ZrE FEshe ot @), O°fl 5912
dure gk a2 A dojat

Y
(@) °
X
() A 94 o & 39k
Hd0EFHoR sk AT & 28A [Q ], OF 94
wHe 247 A, B et ﬁ&t‘r.

o
2e 9 1A 42 0% 9}94 wde 1au w
A A'%%ﬁziﬁm%t&ﬂEOE St e 18







b 27 WESHE Lx o] 2 Tatoler

(7} ¢AOB = 60°, /BOD = 3/DOE
1
(1}) 2COD = 5 DOE

Qe :
-



24.

o 2ol A zx+ 2y 9] B2

3x—20°

@D 55° ® 66° ® 77°

21—20°

20-30°

@ 88°

B 99°



APAM ¥} APBM o]l A

PM 2 F&Ho|t}...O

AMLAB 9 FH¥olB2 AM=( D) °o|t}h---©
ABLI°|EZ2 /PMA =(®@ ) =90"--©

Q, ©, ©l Ish

APAM = APBM ( ® 3H5)

o] wf, PA o tj-35t=HE (@ )o]EZ PA = (® )olth

® BM @ (PMB @ SAS

@ PM G PB



